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NTHINKING
IB SL and HL Paper 1 Sample — Option G — Urban Environments

Refer to the OpenStreetMap below, which shows an area of the inner city of Brussels

.
Stesrueg op o = . < )
f Al Y jad | y t
ny = Etangs /
= Osseghem Noirs
4 Ossegem Zwarte
"*. G ijvers NO.
¥ G
\@\“t N
[/ o =
S A
iy’ =
o va
M p ® s 2 & 4
dr o ’
G @ m oS
Comte s ¥
& ’ Y
G o \ de Flandre m. g‘?
Rue de Courtrai k W& . Graaf .
& e ras 3
5 2 e vanViaanderen ., 59
A e < “Zay T & L9
¥ A . %, o 7 G
: %,
' 4 o, » ) - g
g %, e, K i \
Beekkant === | % 5 A
S ¥ '\‘*‘ \a BC Cb
r £y
” 9, Yauh £ R
4 >
“% * B %
§ C L g 2
% $ 2 8
4 /. ’ L + {
%, & 7 & P <
, ; 5 8
% % 5 & p C
k, % ¥ ‘; I Sit
% e 4 Rye Fe™
o, e . = 2 + %
100 m Y e N : g
S, o & ™ &
300111 % ] A - £ #© OpenStreetMap contributors ¥
Source: Openstreet Maps

Answer the following question

1. Urban Environments

With reference to the map of Brussels:

(a) State two characteristics related to landuse that make this typical of inner city
urban environments in High Income Countries (HICs)

[2]

(b) State two socio-economic characteristics visible in this area of the inner city

[2]
(c) Explain one positive and one negative socio-economic impact of inner city
changein HICs

[343]
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Cidinene

2. (a) Examine the role of human activity in urban environments
in the modification of urban microclimates
[10]
2. (b) Compare the success of two different city strategies to manage geoploitical
risks [10]
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